different from, 160?

A) No

Model B

the mean systolic blood pressure for a population of African-American is |

B) Yes

38. One of the follg

A) Rﬂjet Hd B:l
when H, is true,

39. Type-I error is defined

A) Probability of

C) We can not
make a decision.

D) We need more
informations to
make a decision.

wing is a correct decision:

Rejet H.ﬂ

when H, is true.

1 C) Rejet H,
when H, is true.

D) Another answer.

as;

£ B) Probability of | C) Probability of D) Another answer.
reje & . ;
H:: i':r:fuf: o When rejeting Hy when rejeting Hy when
e . ‘ Hy is true. Hj is true.

- Type-Il error is defined as:

A = —
r‘gj:’t;'zhi:rallit)r of B)_Pl_*obabuht}' of C) Probability of D) Another answer.
A g Hy when rejeting Hy when | rejeting H, when

L My is true. Hy is true. H, is true.

Some usuful values

Zm = 1.285 3 20'95 = 1.645, 20_975 = 1.96, Zo‘gg = 2325, ZM.;E = 2.575
Zp9901 = 2.33

Alpha 10

Significance
Level .01 05
01

Values of f (alpha, power)

95 90 80 50
10.8 8.6 6.2 2.1
13.0 10.5 19 38
178 149 1.7 6.6

End of the exam

Good Luck




Mor true and fill the circle B for f

a#tircle in the answer sheet that

MSeription number and your serial numhbe

Name inscripti or ‘our serial num},
"M, Your inscription number and you ¢

© » fill the circle A for true and fill the circle B for faj
1to 29 ]

Pe is a Juantity

tive variable.
mean cap pe ne

gative,
£an not be com uted for qualitative variables.
€ I8 a set of uestions asked to the target respondent,
’E Esamle mode j
R
For Erouped dat,
t

|
reme values.
f' y the Summatio

01,

m The Variance of th
The sam

the sam les5, 5 5 5is 0,

n of the relative frequencies should be equa] (

¢ when all values are close to the mean,

a statistic,

€ random sam ling is a probabil
isadvangy

ges of stratified sampling th
h strata,

sampling,
at sampling problems may

(i
€ aceepted,

20975 = 1. 96, then Zy
The sample mean is g

In hypothesis testing: |




Popalation mean

esﬁ-:lﬁono{mm“““ﬂﬂndh‘uh

)6

D)7

' D)4275

nd that 200

deillmp{mmm
anaemic children. The point |

D)oy 1

in 2 sample of 100 Saudi |

: was 6 wi =2 Ay
- questions 46 - 49_ with a standard deviation of 2. Use this
46. The point estimate of the poosi

of cholesterol levels is:

| A)6.329 | B)733 [C) 45377 l

D) 5.8798
| 50. Which of the following is suitable for displaving the categorical data”:
A) Bar charts B) Polygons C) Cumulative D) Curves
| polygons

51. In hypothesis testing: Let Hy = gy and Hy p# pg. Under nguﬁcui level 0.01, Hy
should be rejected if the testing valse () satisfies the following inequality:

z <« —2.575

A) z>-2575 Byz >2.5750r i(:)z=15?5

D)z <2575

5. In Bypothesis testing: Let Hy:fi = fig and Hy: > fig. Under significant level 0.01, Ho

A) z=2.325 | B)z<2.325 1 Q) 2>2:325 I

D) z<-2325

. Let Hy =g
| 53. In hypothesis testing:
ﬁuﬂhmﬁmmvﬂ“

and Hy i < fig. Usder significant level 001, Hg
(2) satisfies the following inequality:

D)z<-2325

. to know
a standard deviation of 60. We wish 10 FT0

from 160. Use F?J-
54, The hypothesis He

g i , the mean sy

] m{m |C]z>'-2.315 !

stolic blood
if on the basis of these

W.mdhﬁim

ra was 146 mm Hg with

data, we may conclude
-American is different

D) Hyp= 160
and H:p # 160




he fo]l‘mﬁng tab]
II during 5 Weelk: g

29. The value of Z is: '
[ [2) 1 [ 503 O T ———
30. The sample mean js -
| B)39.6 [€©)332 (DyBRs——

I|I A) 724

| | 31. The sample variance is:

| |_A) 360.8571 | B)18.69 [€) 438 D) 55.8
| | 32. The coefficient of variation (C.V.) is:

| A 43039 [ B) 7% [C)60% TD)33%

| } See the following page




" 33 - 60):
JChoose the correct answer. (from 33 - 60):

I_ 34. The area under the

_‘ 4610 B) 4200 C) 3343

\ Sl ( aal ]

m— Model B

—— w & nd 1!“3' 0 ula " -
dom sampling, if the sample size IS 20a Population 5 T
i om s 1
33, In systematic ran iz

; LRI
ion interval is: |
the size of the “Ivc—tlﬂrl';l:;e—‘_‘__ G .m = \
5 l ¢ of the normal distribution is:
curv nal .

| O)2

J wing = ! hj“ i Y sam Pli"g.
L r ” in fS a4 non ]'.lr"ﬂ 3 A
‘3"' U"L Dfﬂ!(_‘ QL0 s - .

) Snowball ] B) Jm.lgml'ﬂf
sampling _|sa mph:gmmy e
36. One of the following is a proba C) Stratified

ta sampling
A) S:l].owhall B) Quota samp 1 sampling
sampling

37. If we can divided the population into at least two different group with

Commop

characteristic, the sample form we should use:

. imple random | p) Systemag
: n B) Stratified C) Simp AL
A) Quota sampling su]mplin g r sampling Sampling
38. If we want to take a non-probability sample from a population of rare e]ementa, m’h‘.‘ﬂ

use:
A) Systematic B) Quota sampling C) Simple random D) Snﬂwha_ﬂ :
sampling sampling sampling

39. A study is to be performed to determine a certain parameter in a community,
previous study a standard deviation of 46 was obtained. If a sample error of up to 4 is
accepted, the number of subjects should be included in this study at 5% level of sig
is:

(B3 Tqa DT

40. A study is to be done to determine effect of 2 drugs (A and B) on blood glucose fevel ‘-f'*.'
From previous studies using those drugs, standard deviations of BGL of 8 and IZ'gl"ﬂm
obtained respectively, A significant level of 1% ang A power of 80% is required to det

mean difference between the tye BTOUPs of 3 g/dl. The number of subjeets should be ind
in each group js:

C) 300 +B)271
e mic children ip 5 certain preparatory sthoss
o Similar study at another schoo) g PYOpOrtion of 30 % was detected. The minkesls |

size required at a signifioqn level of 19 apq Accepting a difference of up fo 4% of
Population is;

41, It was desired to estimate Proportion of ange

of true value is;

See the following



